https://lwww.leads4pass.com/ns0-403.html

L Qads 4 PQSS 2024 Latest leads4pass NS0-403 PDF and VCE dumps Download

NS0-4039%4S

NetApp Certified Hybrid Cloud Implementation Engineer

Pass NetApp NS0-403 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/ns0-403.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

NS0-403 PDF Dumps | NS0-403 Practice Test | NS0-403 Exam Questions 1/5


https://www.leads4pass.com/ns0-403.html
https://www.leads4pass.com/ns0-403.html
https://www.leads4pass.com/ns0-403.html

https://lwww.leads4pass.com/ns0-403.html
2024 Latest leads4pass NS0-403 PDF and VCE dumps Download

QUESTION 1

A team Is Implementing automated builds of Dev/Test environments. The team must ensure consistent and repeatable
environments.

In this scenario, which two actions will satisfy this requirement? (Choose two.)

A. Ensure that build scripts log to the same output file.

B. Use variables in build scripts to identify environments.

C. Use infrastructure as code to build the environments.

D. Ensure that a service desk ticket is automatically logged when an environment is built.

Correct Answer: AC

QUESTION 2

You have received an internal request for persistent storage where the developer would like to be able to specify the
filesystem. Which three NetApp Trident backend storage drivers would satisfy the requirement? (Choose three.)

A. ontap-nas

B. ontap-nas-economy
C. solidfire-san

D. eseries-iscsi

E. ontap-.san

Correct Answer: BCD

QUESTION 3

Which two definitions are true about data protection under Astra Control? (Choose two.)

A. A backup is stored in an object store in the cloud.

B. A snapshot is a point-in-time copy of an application that is stored on the same provisioned volume as the application.
C. A snapshot is stored in an object store in the cloud.

D. A backup is a point-in-time copy of an application that is stored on the same provisioned volume as the application.

Correct Answer: A

QUESTION 4
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Your company uses all four of NetApp\\'s storage offerings: ONTAP, StorageGRID, Element, and E-Series. You are
asked to provide persistent storage to the OpenShift group by using NFS.

In this scenario, which of the available storage deployments would provide access?
A. StorageGRID

B. ONTAP Select

C. E-Series

D. Element

Correct Answer: C

QUESTION 5

You have an AFF A400 system with NetApp ONTAP 9.8 installed. You want to configure the NetApp Cloud Tiering
service to tier data to AWS object storage. The communication between your cluster and the AWS cloud needs to be
encrypted. You have installed the FabricPool license, but your ONTAP cluster cannot reach the S3 bucket.

Which two configurations are causing the error? (Choose two.)

A. You have not configured the TLS encryption.

B. You have not configured your firewall to allow outbound traffic on port 443.

C. You have not configured a LIF with a public IP address.

D. You have not configured a LIF with the intercluster role.

Correct Answer: CD

QUESTION 6

You have a hybrid storage environment with on-premises ONTAP 9.8 clusters and Cloud Volumes ONTAP for AWS 9.8
clusters. You require anomaly detection to automatically analyze data access patterns to identify risks from ransomware
attacks.

In this scenario, which NetApp service satisfies this requirement?

A. Cloud Sync

B. Cloud Data Sense

C. Cloud Volumes Service

D. Cloud Secure

Correct Answer: A
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QUESTION 7

Your customer is running their Kafka and Spark applications inside a Kubernetes cluster. They want to create a single
backup policy within Astra to automate the backup of both applications and all their related Kubernetes objects at the
same time.

Which method in Kubernetes should be used to accomplish this task?

A. Create a Helm chart that deploys Kafka and Spark and their related objects to multiple namespaces.

B. Put the applications and their objects in a single namespace, or label all the objects with a single label that Astra can
recognize.

C. Create a Kubernetes custom resource definition that includes all of the objects that Astra needs to treat as a single
entity.

D. Use a single Trident-based StorageClass to provision all storage for Kafka and Spark.

Correct Answer: C

QUESTION 8

You want to add your NetApp StorageGRID embedded Prometheus instance as a data source to Grafana.What must be
done to accomplish this task?

A. Unblock port 9090 on the StorageGRID primary admin node.
B. Deploy a gateway node in StorageGRID.

C. Reboot the StorageGRID primary admin

D. Create a dashboard for StorageGRID in Grafana.

Correct Answer: C

QUESTION 9

Your customer wants to stream large amounts of real-time data from multiple sources at the application level into their
Apache Spark platform for transformation before it goes into their machine learning platform.

In this scenario, which technology should be used for this task?
A. NetApp SnapMirror

B. Apache Kafka

C. NetApp Global File Cache

D. NetApp Cloud Sync service

Correct Answer: B
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QUESTION 10

You are asked to provision storage for a development team to make use of NetApp Trident in their Kubernetes
environment. You want to ensure that Trident will not be able to exhaust the storage system resources.

In this scenario, which two actions would you take to satisfy the requirements? (Choose two.)
A. Limit the maximum volume count.

B. Limit the available data LIFs.

C. Use a shared SVM.

D. Limit the maximum volume size.

Correct Answer: A
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